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Interactive Question

A hollow cylinder of mass M and radius R rolls down an
inclined plane. A block of mass M slides down an

identical inclined plane. If both objects are Ho_wmmmm at the
same time

A) the Eoow will reach the bottom first.

B) the cylinder will reach the bottom first.

C) the block will reach the bottom with greater kinetic
energy

D) the cylinder will reach the bottom with greater kinetic
energy

E) both the block and the cylinder will reach the bottom
at the same time.




Interactive Question

A solid sphere (S), a thin hoop (H), and a solid disk (D),
all with the same radius, are allowed to roll down an

inclined plane without slipping. In which order will they
arrive at the bottom? (The @mﬂ one down :mﬁoa first).
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Interactive Question

A force F'is applied to a dumbbell for a time interval At,
first as in (a) and then as in (b). In which case does the
dumbbell acquire the greater energy?
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A) (a)
B) (b)
C) no difference




Interactive Question

A force F is applied to a dumbbell for a time interval At,
first as in (a) and then as in (b). In which case does the
dumbbell acquire the greater center-of-mass speed?
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A) (a)
B) (b)
C) no difference
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